+0.05p
o o

9.045F
> E
0.04F
Q E
D.035¢
° E

0.03f
0.025E

0.02f
0.015F

0.0
0.005E

Ratio

Efficiency vs P,

1 " v

T_original_low
T _newbranch_|

—=— DQM_T Ft

—e— DQM_TT_ owpt

—— DQM_TT original_lowpt_pLess
—— DOM_TT newbranch_lowpt _plLess

=0.05¢

[%2]

§.045
2
§0.04
Q
$9.035
3]
0.03
0.025
0.02
0.015

0.01F -

0.005

Ratio

......................................

........

........

0.5

Efficiency vs ¢

£0.05
2]
2.045
2
50.04
o
.035
(]
0.03
0.025

0.02F- 1
0.015[ AL

0.005

................................................

..................................................

10

Ratio

0.8
0.6




	Contents
	Page 1


